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Note:  Question No 1 is compulsory.
Attempt any three questions out of remaining.

Q1) a) Differentiate between high level and low level modulation.
b) Draw PCM transmitter and receiver.

¢) Explain Quantization process.

®
d) Explain power line carrier communication. %
Q2)  a) Draw and explain BPSK system. K

(10)
b) An AM carrieris modulated with an audio signal given by
M) =02sing (1) +0.5c084,7) Where £1_5001; & 10008z . Thw peak amplitude of the
carrier signal A. =10 volt and carrier frequency Fo=50 Khz As§urée 500 load _ a) Evaluate &

skﬁchthcsmch-umﬂfAMwave b) Ca]mﬂatc modulatior x ¢'OFind average power of the
Q3) a) Cﬁmpﬂtﬂhcﬂuﬂ'lmncodefmthismce.--

A1c combined symbols high as possible
and  compute Efficiency 1]

(10)
| Symbol s, |
_ (10)
Q4)  a) Explain any two meth 0ds of guppression of sidebands in AM (10)

st Secly discriminator with the help of neat circuit & phasor
| (10)

(10)

(10)

(10)

(11) Reception (iii) Waveform for data bit Sequence
(10)
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